Solve the system of equations SCORE: /12 PTS

—-2x-11y+2z=-13
3X+12y—-9z=27
4x+21y—-2z=21
NOTES: Y ou must use the pivot method shown in lecture, and you must state all elementary row oper ations per for med.
You must produce a matrix in reduced row echelon form (RREF) (if the system has a solution)

or row echelon form (REF) (if the system has no solution).
You must check that your final answer iscorrect (if the system has a solution).

-2 -11 2 -1B]|R <R 1 4 0 3|R+(-9R
3 12 -9 27 O 1 0 1
i 21 -2 21 0 0 1 -2
3 12 -9 27]iR 1 0 0 -1]
-2 -11 2 -13 0O 1 0 1
4 21 -2 21 . 0 0 1 -2
1 4 -3 9]
-2 -11 2 -13| R+(2R (X, y,2=(-1,1,-2)
4 21 -2 21|R+(-49R
1 4 -3 9] -2(-)-11H)+2(-2)=2-11-4=-13
0 -3 -4 5|ReoR 3(-1) +12(1) - 9(-2) = -3+12+18=27
O 5 10 -15] 4(-1)+21() -2(-2)=-4+21+4=21
1 -3 9]
0 5 10 -15|%R,
. 0 -3 -4 5|
1 4 -3 9]
o 1 2 -3
| 0 -3 -4 S5 R+QR
1 4 -3 9]
o 1 2 -3
0 0 2 -4]3
1 4 -3 9] R+(QR,
0 1 2 -3R+(-2R,
. 0 0 1 -2




Solve the following systems of equations

&

NOTES

3X+4y-11z=5
2X+y—-4z=5
—-X—-2y+5z=-1

[b]

SCORE: /18 PTS

3X+5y-9z=2
2x-3y+13z=-1
- X+2y-8z=3

Y ou must use the pivot method shown in lecture, and you must state all elementary row oper ations per for med.

You must produce a matrix in reduced row echelon form (RREF) (if the system has a solution)

or row echelon form (REF) (if the system has no solution).

3 4 -11 5|RoR,
2 1 -4 5
-1 -2 5 -1
-1 -2 5 -1I]-R

2 1 -4 5
3 4 -11 5|
1 2 -5 1]

2 1 -4 5|R,+(-2)R
3 4 -11 5| R+(-39R
1 2 -5 1]

0 -3 6 3-iR
0 -2 4 2
1 2 -5 1]

o 1 -2 -1
0 -2 4 2R+(9R
1 2 -5 1R +(-2R,

o 1 -2 -1
0 0 O |
1 0 -1 |

O 1 -2 -1
0 0 0 O
X—2=3 X=2+3

»
y-2z=-1 y=2z-1

(X, y,2)=(z+3,22-1,2)

3 5 -9 2]RoR

2 -3 13 -1
-1 2 -8 3]

-1 2 -8 3|-R

2 -3 13 -1
| 3 5 -9 2]

1 -2 8 -3]

2 -3 13 -1|R+(-2R
| 3 5 -9 2|R+(-3R
1 -2 8 -3

0o 1 -3 5
| 0 11 -33 11|R+(-1DR,
1 -2 8 -3

0 1 -3 5
| 0 0 0 -4
NO SOLUTION




